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1=1,V=5,X=10,L=50, C =100, D =500, M = 1,000

You find some ancient Roman artefacts. Translate the numbers into English:

[1= VI= XX= Xv= XVIII= XXXV=
LXXX= Lv= XXV= CL= CX= MMM=
[X= XXIX= Xc= LXI= DC= Mc=

A Roman comes to the future. Translate these numerals into Roman for him:

2= 16= 40= 33= 25=

55= 4= 24= 73= 400= 550=

1000= 2500= 300= 225= 105= 90=
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You find some Ancient Roman number sentences but some numbers have faded away
Complete the missing numbers with English digits:

VI + II= Vevs X+V= XX+ X =
L+C= XV + V= M+ MMM= D+C=
X - VI= v-I= XXX - X L - XXV=
D - ccc= M-C= CM-D= C-X=

Circle the biggest numbers out of each pair:

1M or DC? 2.CX or VIII? 3.CCL or CM? 4.LV or LIV?2
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A toga measures CX centimetres long. How many centimetres long would IIT togas
be?




